+2 1 2 1 . -
e e L Rkt
(@)_1 @ L o ! @ !
2 3 2 3

oFHof 125 F5HA 4(x+2) - 6 = 3(2x + 1)
o|gste] Aol dx - 6x=3-84+6, —2x

=1




WA x5 = 18 BESHE x 0] FEY FL2

@ -9 @—10 ® -11 @ -12 ©® -13

lx+5] =1
= x+5=1F=x+5=-1
x=-4F=x=-6




3. oIAPYAEAI 3 -2x-1=09 ZZAB(H A<B) &, 34+ B
o] k27

@0 @1 @ 2 @ 3 ® 4

B ~

3x2-2x-1=0
Bx+1)(x-1)=0




4.  OlATAA (x-1)(x+3) =79 =2

® ‘“2‘/ﬁ ® ‘1i2‘/ﬁ ® -2+ I
@)-1+ viT ® 1+ Vil

(x=1)(x+3)=7,x>+2x-3-7=0,
¥ +2x-10=0
29 FAof o5 x = -1+ VIZ+ 10 = —1 + VI




olJ
afl

o

A

P A x2 — mx +2m + 1

1

o

@ 2 ®0

@ 3

B

X2 —mx+2m+1=009]
l1-m+2m+1=0

X +2x-3=0,

Som= =2

(x+3)(x-1)

0




=
9
fu)
%
o
)
ol
o
>,
><l\’:
_|_
=Y
Q
|
=
=
+
o
Q
I
o
lo
ot
rH
o
=
o,
£
v
ru

=12 et

124a(a-1)+3a=0

@+2a+1=(@+12=0

Ta=-1

-1 (-2)x-3=x"+2x-3
=(x+3)(x-1)=0

T x=1,-3 .. x=-3




BN
K
ol

O x2+2x+4=0

@ 2 +2x+1=0

© x»¥*+4x+2=0

@06 060

20 ©®e

ONQ)

4

12-1-4=-3<0":

© a=1,0=2,c=2

52

22-1-2=2>0: A2t}




@ 3 ® 6 @9 ® 36

D1




g °

¥ -3x-(k-1)=00°] AZE 7IA B2
D= (-3)2+4-1-(k-1)20
9+4k-4>0, 4k > -5

5
k> ——
-4




DO m<1 ® -1<m<1
O m<-1Ee=m>1 @ym > 1
® m>-1

A% me WAS

o171 o] AP Ao] 322 A 2wl
D/A=1-m<0
Som>1




11.

oIZFY A ax® +bx+c =02

T 19

T = Q,
o jo - Bl= T F ol A E271?
VD -vVD VD
e @ ORE
_\p D
lal lal
o] 2412 o] g5te] EH]
x_—bi b2 — 4ac
a 2a ’
-b D -b— VD
—f—a: +\/_,ﬁ: \/_(E',D:bg—élac)
2a 2a
b+ VD -b- D
Sl =8 = =
2a 2a

b+ VD+b+ VD

2D
2a

2a
VD

|al

pet st W Ae peta




12, AN 22 63 +3 = 09 F 2% o, et T, o? + £ 0] S
T2

® 1 @ 2 ® 4 @5 G

B ~

a+ﬁ=3,aﬂ:g
Q47 = (a+f)2-208=9-2- =6




13.

OIZPYAA 2x% —6x+4 =02 F & a, L T W, o* + 5% 27

@ -9 @ -2 ® 0 @5 ® 13

a+B=3, af=2
@+ =(a+p)?-20=9-4=5




14. OJAPA 252 —4x-3 = 09 5 22 0,52 F 1, o2 +42 9] 7

@~ @ 6 ® 5 @ 4 ® 3

o Algeke] BA = HH

a+pB=2 aﬂ:—g

L+ =(a+p)r-2e8=T7




©

|
N Lo

|

| —

x2—3x—|—2:0945,__1_—_1__‘%a”83]_

(G231 \)

Rl

e
£
R I™

DO | Ot

=R

& o] Z¥zt o 2F polB g

a+B=3, af=2°]tk.

a B op af

B a_d+p  (@+p)’-2p 5
SE s = _ -




